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part B
IL (a) (i) Explain what is meant by stoctrastic and deterministic systeins.

. (ii) State-the reduction rules forblock diagram and explain.
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L (a) Explain what is meant by static.ahd dynamic "y"t"-r. 

. :

(b) State and explain Kirchhoff's laws.
(c) What is thennal resistance ? Explain. .

(d) List the relation between mechanical rotational system elestrical systdm- -

(p) Define and explain Fourigr series.representation for,sym.netric waveforsrs. 
,

(0 Explain hormonic iomponpn[s in 3-phase source..:
(g) State and prove integration property of Fourier transform-

(h) Find the Fourier transform af x(t) = JL, ltl< I

(8x5=40marks)

(6 marks)
(9 marks)\

(b) Draw the signal flow'graph for the blobk didgram shown b'elow and hence find the transfer
function.
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state D'Alembert's principle and explain the procedure for writing ihe models ofmechanii:al system. ror wrlElng f,ne I

' .' ., . ''. 
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the system shown ftfffj'fin{ ![eiatio X2(S,)f;(S)-. . ,. . - - -, --1-,-- -- uuri oJrDL€ur snown I
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(g marks)

.Or .
(i) What are the basic elementsofhydraulic system ? Explain. (S marks) I(ii) Compare electrical and electromechonical systems. i;;;;Find the Fourier series representation of the followin-g q,ave form and plot its spectra

Fis.'s.

Or
(b) Derive harmonic currents in star connected non-linear loads.(a) Verify Parseval's theorem for the followirg signals x(t) = 2 s_ltl

Or
(b) (i) State and prove convolution property of Fourier transform. .(g 

marks)(ii) What is'frequency 
Tsponse ? Erplain rn" O-**ie" of Agqo"ncy rie6ponse. (Z markS)

. . : [4 x 15= 60 marks]
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